


RPM

D
IS

C
H

A
R

G
E

 -
 G

P
M

 [
l/m

in
]

0 800 24002000400 1200 3200
0 [0]

1 [3.8]

2 [7.6]

SERIES:  A005
GRAPH 1

THEORETICAL GPM
ACTUAL DELIVERY IN GPM [l/min] = GRAPH 1 - GRAPH 2

28001600 3600



VISCOSITY - SSU [cSt]

S
L

IP
 -

 G
P

M
 [

l/m
in

]

GRAPH 2
SLIP

ACTUAL DELIVERY IN GPM [l/min] = GRAPH 1 - GRAPH 2

D
IS

C
H

A
R

G
E

 P
R

E
S

S
U

R
E

S
H

O
W

N
 O

N
 D

IA
G

O
N

A
L

 L
IN

E
S

75 PSI [517.1 kPa]

50 PSI [344.7 kPa]

200 PSI [1379 kPa]

100 PSI [689.5 kPa]

150 PSI [1034.2 kPa]

1 [3.8]

.01 [.04]

10
0 

[2
0.

7]

20
0 

[4
3.

3]

40
0 

[8
7.

7]

60
0 

[1
31

.8
]

80
0 

[1
75

.8
]

10
00

 [
22

0]

20
00

 [
44

0]

40
00

 [
88

0]

60
00

 [
13

20
]

80
00

 [
17

60
]

10
00

0 
[2

20
0]

.1 [.38]

300 PSI [2068.4 kPa]

.004 [.02]

.02 [.08]

.04 [.15]

.2 [.76]

.4 [1.5]

30
 [

.2
8]

40
 [

4.
2]

60
 [

10
.3

]

80
 [

15
.5

]

SERIES:  A005



RPM

TOTAL INPUT HORSEPOWER [kW] = GRAPH 3 + GRAPH 4 

SERIES:  A005
GRAPH 3

INPUT HORSEPOWER

IN
P

U
T

 H
O

R
S

E
P

O
W

E
R

 [
kW

]

0 1000200 800400 1200600
0 [0]

.4 [.30]

.1 [.07]

150 PSI [1034.2 kPa]

50 PSI [344.7 kPa]

200 PSI [1379 kPa]250 PSI [1723.7 kPa]
300 PSI [2

068.4 kPa]

D
IS

C
H

A
R

G
E

 P
R

E
S

U
R

E
S

H
O

W
N

 O
N

 D
IA

G
O

N
A

L
 L

IN
E

S

.3 [.22]

100 PSI [689.5 kPa]

1400 1600 1800

.2 [.15]

2000 2200 2400 2600 2800 3000 3200 3400 3600



VISCOSITY - SSU [cSt]

700 RPM
900 RPM

1200 RPM

1500 RPM
1800 RPM

V
IS

C
O

U
S

 H
P

 [
kW

]
SERIES: A005

GRAPH 4

TOTAL INPUT HORSEPOWER [kW] = GRAPH 3 + GRAPH 4

R
P

M
 S

H
O

W
N

 O
N

 D
IA

G
O

N
A

L
 L

IN
E

S

VISCOUS HORSEPOWER

20
0 

[4
3.

3]

10
0 

[2
0.

7]
3600 RPM

30
 [

.2
8]

40
 [

4.
2]

60
 [

10
.3

]

80
 [

15
.5

]

.01 [.007]

.04 [.03]

150 PSI100 PSI50 PSI

150 PSI100 PSI
50 PSI

.1 [.07]

.4 [.30]

1 [.75]

40
0 

[8
7.

7]

60
0 

[1
31

.8
]

80
0 

[1
75

.8
]

10
00

 [
22

0]

20
00

 [
44

0]

40
00

 [
88

0]

60
00

 [
13

20
]

80
00

 [
17

60
]

10
00

0 
[2

20
0]









RPM

D
IS

C
H

A
R

G
E

 -
 G

P
M

 [
l/m

in
]

0 800 24002000400 1200 3200
0 [0]

1 [3.8]

2 [7.6]

SERIES:  A01
GRAPH 1

THEORETICAL GPM
ACTUAL DELIVERY IN GPM [l/min] = GRAPH 1 - GRAPH 2

28001600 3600

3 [11.4]

4 [15.1]



VISCOSITY - SSU [cSt]

S
L

IP
 -

 G
P

M
 [

l/m
in

]

GRAPH 2
SLIP

ACTUAL DELIVERY IN GPM [l/min] = GRAPH 1 - GRAPH 2

D
IS

C
H

A
R

G
E

 P
R

E
S

S
U

R
E

S
H

O
W

N
 O

N
 D

IA
G

O
N

A
L

 L
IN

E
S

75 PSI [517.1 kPa]

50 PSI [344.7 kPa]

200 PSI [1379 kPa]

100 PSI [689.5 kPa]

150 PSI [1034.2 kPa]

1 [3.8]

.01 [.04]

10
0 

[2
0.

7]

20
0 

[4
3.

3]

40
0 

[8
7.

7]

60
0 

[1
31

.8
]

80
0 

[1
75

.8
]

10
00

 [
22

0]

20
00

 [
44

0]

40
00

 [
88

0]

60
00

 [
13

20
]

80
00

 [
17

60
]

10
00

0 
[2

20
0]

.1 [.38]

300 PSI [2068.4 kPa]

.004 [.02]

.02 [.08]

.04 [.15]

.2 [.76]

.4 [1.5]

30
 [

.2
8]

40
 [

4.
2]

60
 [

10
.3

]

80
 [

15
.5

]

SERIES:  A01



RPM

TOTAL INPUT HORSEPOWER [kW] = GRAPH 3 + GRAPH 4 

SERIES:  A01
GRAPH 3

INPUT HORSEPOWER

IN
P

U
T

 H
O

R
S

E
P

O
W

E
R

 [
kW

]

0 1000200 800400 1200600
0 [0]

.4 [.30]

.1 [.07]

150 PSI [1034.2 kPa]

50 PSI [344.7 kPa]

200 PSI [1379 kPa]250 PSI [1723.7 kPa]
300 PSI [2

068.4 kPa]

D
IS

C
H

A
R

G
E

 P
R

E
S

U
R

E
S

H
O

W
N

 O
N

 D
IA

G
O

N
A

L
 L

IN
E

S

.3 [.22]

100 PSI [689.5 kPa]

1400 1600 1800

.2 [.15]

2000 2200 2400 2600 2800 3000 3200 3400 3600

.5 [.37]

.6 [.45]

.7 [.52]



VISCOSITY - SSU [cSt]

700 RPM
900 RPM

1200 RPM
1500 RPM
1800 RPM

V
IS

C
O

U
S

 H
P

 [
kW

]
SERIES: A01

GRAPH 4

TOTAL INPUT HORSEPOWER [kW] = GRAPH 3 + GRAPH 4

R
P

M
 S

H
O

W
N

 O
N

 D
IA

G
O

N
A

L
 L

IN
E

S

VISCOUS HORSEPOWER

20
0 

[4
3.

3]

10
0 

[2
0.

7]

3600 RPM

30
 [

.2
8]

40
 [

4.
2]

60
 [

10
.3

]

80
 [

15
.5

]

.01 [.007]

.04 [.03]

150 PSI
100 PSI
50 PSI.1 [.07]

.4 [.30]

1 [.75]

40
0 

[8
7.

7]

60
0 

[1
31

.8
]

80
0 

[1
75

.8
]

10
00

 [
22

0]

20
00

 [
44

0]

40
00

 [
88

0]

60
00

 [
13

20
]

80
00

 [
17

60
]

10
00

0 
[2

20
0]

150 PSI100 PSI
50 PSI









RPM

D
IS

C
H

A
R

G
E

 -
 G

P
M

 [
l/m

in
]

0 800 24002000400 1200 3200
0 [0]

1 [3.8]

2 [7.6]

SERIES:  A02
GRAPH 1

THEORETICAL GPM
ACTUAL DELIVERY IN GPM [l/min] = GRAPH 1 - GRAPH 2

28001600 3600

3 [11.4]

4 [15.1]

6 [22.7]

8 [30.3]

5 [18.9]

7 [26.5]



VISCOSITY - SSU [cSt]

S
L

IP
 -

 G
P

M
 [

l/m
in

]

GRAPH 2
SLIP

ACTUAL DELIVERY IN GPM [l/min] = GRAPH 1 - GRAPH 2

D
IS

C
H

A
R

G
E

 P
R

E
S

S
U

R
E

S
H

O
W

N
 O

N
 D

IA
G

O
N

A
L

 L
IN

E
S

75 PSI [517.1 kPa]
50 PSI [344.7 kPa]

200 PSI [1379 kPa]

100 PSI [689.5 kPa]

150 PSI [1034.2 kPa]

1 [3.8]

.01 [.04]

10
0 

[2
0.

7]

20
0 

[4
3.

3]

40
0 

[8
7.

7]

60
0 

[1
31

.8
]

80
0 

[1
75

.8
]

10
00

 [
22

0]

20
00

 [
44

0]

40
00

 [
88

0]

60
00

 [
13

20
]

80
00

 [
17

60
]

10
00

0 
[2

20
0]

.1 [.38]

300 PSI [2068.4 kPa]

.004 [.02]

.02 [.08]

.04 [.15]

.2 [.76]

.4 [1.5]

30
 [

.2
8]

40
 [

4.
2]

60
 [

10
.3

]

80
 [

15
.5

]

2 [7.6]

SERIES:  A02



RPM

TOTAL INPUT HORSEPOWER [kW] = GRAPH 3 + GRAPH 4 

SERIES:  A02
GRAPH 3

INPUT HORSEPOWER

IN
P

U
T

 H
O

R
S

E
P

O
W

E
R

 [
kW

]

0 1000200 800400 1200600
0 [0]

.4 [.30]

.8 [.60]

150 PSI [1034.2 kPa]

50 PSI [344.7 kPa]

200 PSI [1379 kPa]250 PSI [1
723.7 kPa]

300 PSI [2
068.4 kPa]

D
IS

C
H

A
R

G
E

 P
R

E
S

U
R

E
S

H
O

W
N

 O
N

 D
IA

G
O

N
A

L
 L

IN
E

S

1.2 [.89]

100 PSI [689.5 kPa]

1400 1600 1800

.2 [.15]

2000 2200 2400 2600 2800 3000 3200 3400 3600

1 [.75]

.6 [.45]

1.4 [1.04]



VISCOSITY - SSU [cSt]

700 RPM

900 RPM
1200 RPM
1500 RPM
1800 RPM

V
IS

C
O

U
S

 H
P

 [
kW

]
SERIES:  A02

GRAPH 4

TOTAL INPUT HORSEPOWER [kW] = GRAPH 3 + GRAPH 4

R
P

M
 S

H
O

W
N

 O
N

 D
IA

G
O

N
A

L
 L

IN
E

S

VISCOUS HORSEPOWER

20
0 

[4
3.

3]

10
0 

[2
0.

7]
3600 RPM

30
 [

.2
8]

40
 [

4.
2]

60
 [

10
.3

]

80
 [

15
.5

]

.1 [.07]

.4 [.30]

1 [.75]

40
0 

[8
7.

7]

60
0 

[1
31

.8
]

80
0 

[1
75

.8
]

10
00

 [
22

0]

20
00

 [
44

0]

40
00

 [
88

0]

60
00

 [
13

20
]

80
00

 [
17

60
]

10
00

0 
[2

20
0]

2 [1.5]

.2 [.15]

.04 [.03]

.02 [.015]

.01 [.007]

150 PSI100 PSI
50 PSI

150 PSI
100 PSI
50 PSI









RPM

D
IS

C
H

A
R

G
E

 -
 G

P
M

 [
l/m

in
]

0 800 24002000400 1200 3200
0 [0]

1 [3.8]

2 [7.6]

SERIES:  A03
GRAPH 1

THEORETICAL GPM
ACTUAL DELIVERY IN GPM [l/min] = GRAPH 1 - GRAPH 2

28001600 3600

3 [11.4]

4 [15.1]

6 [22.7]

8 [30.3]

5 [18.9]

7 [26.5]

10 [37.8]

12 [45.4]

11 [41.6]

9 [34.1]



VISCOSITY - SSU [cSt]

S
L

IP
 -

 G
P

M
 [

l/m
in

]

GRAPH 2
SLIP

ACTUAL DELIVERY IN GPM [l/min] = GRAPH 1 - GRAPH 2

D
IS

C
H

A
R

G
E

 P
R

E
S

S
U

R
E

S
H

O
W

N
 O

N
 D

IA
G

O
N

A
L

 L
IN

E
S

75 PSI [517.1 kPa]
50 PSI [344.7 kPa]

200 PSI [1379 kPa]

100 PSI [689.5 kPa]

150 PSI [1034.2 kPa]

1 [3.8]

.01 [.04]

10
0 

[2
0.

7]

20
0 

[4
3.

3]

40
0 

[8
7.

7]

60
0 

[1
31

.8
]

80
0 

[1
75

.8
]

10
00

 [
22

0]

20
00

 [
44

0]

40
00

 [
88

0]

60
00

 [
13

20
]

80
00

 [
17

60
]

10
00

0 
[2

20
0]

.1 [.38]

300 PSI [2068.4 kPa]

.004 [.02]

.02 [.08]

.04 [.15]

.2 [.76]

.4 [1.5]

30
 [

.2
8]

40
 [

4.
2]

60
 [

10
.3

]

80
 [

15
.5

]
2 [7.6]

4 [15.1]

SERIES:  A03



RPM

TOTAL INPUT HORSEPOWER [kW] = GRAPH 3 + GRAPH 4 

SERIES:  A03
GRAPH 3

INPUT HORSEPOWER

IN
P

U
T

 H
O

R
S

E
P

O
W

E
R

 [
kW

]

0 1000200 800400 1200600
0 [0]

.4 [.30]

.8 [.60] 150 PSI [1034.2 kPa]

50 PSI [344.7 kPa]

200 PSI [1379 kPa]250 PSI [1
723.7 kPa]

300 PSI [2
068.4 kPa]

D
IS

C
H

A
R

G
E

 P
R

E
S

U
R

E
S

H
O

W
N

 O
N

 D
IA

G
O

N
A

L
 L

IN
E

S

1.2 [.89]

100 PSI [689.5 kPa]

1400 1600 1800

.2 [.15]

2000 2200 2400 2600 2800 3000 3200 3400 3600

1 [.75]

.6 [.45]

1.4 [1.04]

1.6 [1.19]

1.8 [1.34]

2.0 [1.49]

2.2 [1.64]



VISCOSITY - SSU [cSt]

700 RPM
900 RPM

1200 RPM
1500 RPM

1800 RPM

V
IS

C
O

U
S

 H
P

 [
kW

]
SERIES:  A03

GRAPH 4

TOTAL INPUT HORSEPOWER [kW] = GRAPH 3 + GRAPH 4

R
P

M
 S

H
O

W
N

 O
N

 D
IA

G
O

N
A

L
 L

IN
E

S

VISCOUS HORSEPOWER

20
0 

[4
3.

3]

10
0 

[2
0.

7]
3600 RPM

30
 [

.2
8]

40
 [

4.
2]

60
 [

10
.3

]

80
 [

15
.5

]

100 PSI
50 PSI

150 PSI100 PSI
50 PSI

.1 [.07]

.4 [.30]

1 [.75]

40
0 

[8
7.

7]

60
0 

[1
31

.8
]

80
0 

[1
75

.8
]

10
00

 [
22

0]

20
00

 [
44

0]

40
00

 [
88

0]

60
00

 [
13

20
]

80
00

 [
17

60
]

10
00

0 
[2

20
0]

2 [1.5]

.2 [.15]

.04 [.03]











RPM

D
IS

C
H

A
R

G
E

 -
 G

P
M

 [
l/m

in
]

0 800200 1000400 1200600
0 [0]

2 [7.6]

4 [15.1]

6 [22.7]

8 [30.3]

10 [37.9]

12 [45.4]

SERIES:  A06
GRAPH 1

THEORETICAL GPM
ACTUAL DELIVERY IN GPM [l/min] = GRAPH 1 - GRAPH 2

1400 1600 1800

14 [53]



VISCOSITY - SSU [cSt]

S
L

IP
 -

 G
P

M
 [

l/m
in

]

GRAPH 2
SLIP

ACTUAL DELIVERY IN GPM [l/min] = GRAPH 1 - GRAPH 2

D
IS

C
H

A
R

G
E

 P
R

E
S

S
U

R
E

S
H

O
W

N
 O

N
 D

IA
G

O
N

A
L

 L
IN

E
S

125 PSI [861.8 kPa]

25 PSI [172.4 kPa]

100 PSI [689.5 kPa]

50 PSI [344.7 kPa]

75 PSI [517.1 kPa]

.4 [1.51]

.04 [.15]

.1 [3.8]

30
 [

.2
8]

10
0 

[2
0.

7]

20
0 

[4
3.

3]

40
0 

[8
7.

7]

60
0 

[1
31

.8
]

80
0 

[1
75

.8
]

10
00

 [
22

0]

20
00

 [
44

0]

40
00

 [
88

0]

60
00

 [
13

20
]

80
00

 [
17

60
]

10
00

0 
[2

20
0]

.2 [.76]

150 PSI [1034.2 kPa]

1 [3.8]

2 [7.57]

4 [15.1]



RPM

TOTAL INPUT HORSEPOWER [kW] = GRAPH 3 + GRAPH 4 

SERIES:  A06
GRAPH 3

INPUT HORSEPOWER

IN
P

U
T

 H
O

R
S

E
P

O
W

E
R

 [
kW

]

0 1000200 800400 1200600
0 [0]

.4 [.30]

.8 [.60]

75 PSI [517.1 kPa]

25 PSI [172.4 kPa]

100 PSI [689.5 kPa]125 PSI [861.8 kPa]150 PSI [1034.2 kPa]

D
IS

C
H

A
R

G
E

 P
R

E
S

U
R

E
S

H
O

W
N

 O
N

 D
IA

G
O

N
A

L
 L

IN
E

S

1.2 [.89]

50 PSI [344.7 kPa]

1400 1600 1800

.2 [.15]

1 [.75]

.6 [.45]

1.4 [1.04]



VISCOSITY - SSU [cSt]

700 RPM

900 RPM

1200 RPM

1800 RPM

V
IS

C
O

U
S

 H
P

 [
kW

]
SERIES:  A06

GRAPH 4

TOTAL INPUT HORSEPOWER [kW] = GRAPH 3 + GRAPH 4

R
P

M
 S

H
O

W
N

 O
N

 D
IA

G
O

N
A

L
 L

IN
E

S

VISCOUS HORSEPOWER

20
0 

[4
3.

3]

10
0 

[2
0.

7]

30
 [

.2
8]

40
 [

4.
2]

60
 [

10
.3

]

80
 [

15
.5

]

.1 [.07]

.4 [.30]

1 [.75]

40
0 

[8
7.

7]

60
0 

[1
31

.8
]

80
0 

[1
75

.8
]

10
00

 [
22

0]

20
00

 [
44

0]

40
00

 [
88

0]

60
00

 [
13

20
]

80
00

 [
17

60
]

10
00

0 
[2

20
0]

2 [1.5]

.2 [.15]

.04 [.03]

4 [2.98]









RPM

D
IS

C
H

A
R

G
E

 -
 G

P
M

 [
l/m

in
]

0 800200 1000400 1200600
0 [0]

2 [7.6]

4 [15.1]

6 [22.7]

8 [30.3]

10 [37.9]

12 [45.4]

SERIES:  A08
GRAPH 1

THEORETICAL GPM
ACTUAL DELIVERY IN GPM [l/min] = GRAPH 1 - GRAPH 2

1400 1600 1800

14 [53]

16 [60.6]

18 [68.1]



VISCOSITY - SSU [cSt]

S
L

IP
 -

 G
P

M
 [

l/m
in

]

GRAPH 2
SLIP

ACTUAL DELIVERY IN GPM [l/min] = GRAPH 1 - GRAPH 2

D
IS

C
H

A
R

G
E

 P
R

E
S

S
U

R
E

S
H

O
W

N
 O

N
 D

IA
G

O
N

A
L

 L
IN

E
S

125 PSI [861.8 kPa]

25 PSI [172.4 kPa]

100 PSI [689.5 kPa]

50 PSI [344.7 kPa]

75 PSI [517.1 kPa]

.4 [1.51]

.04 [.15]

.1 [3.8]

30
 [

.2
8]

10
0 

[2
0.

7]

20
0 

[4
3.

3]

40
0 

[8
7.

7]

60
0 

[1
31

.8
]

80
0 

[1
75

.8
]

10
00

 [
22

0]

20
00

 [
44

0]

40
00

 [
88

0]

60
00

 [
13

20
]

80
00

 [
17

60
]

10
00

0 
[2

20
0]

.2 [.76]

150 PSI [1034.2 kPa]

1 [3.8]

2 [7.57]

4 [15.1]

SERIES:  A08



RPM

TOTAL INPUT HORSEPOWER [kW] = GRAPH 3 + GRAPH 4 

SERIES:  A08
GRAPH 3

INPUT HORSEPOWER

IN
P

U
T

 H
O

R
S

E
P

O
W

E
R

 [
kW

]

0 1000200 800400 1200600
0 [0]

.4 [.30]

.8 [.60]

75 PSI [517.1 kPa]
100 PSI [689.5 kPa]125 PSI [861.8 kPa]

150 PSI [1
034.2 kPa]

D
IS

C
H

A
R

G
E

 P
R

E
S

U
R

E
S

H
O

W
N

 O
N

 D
IA

G
O

N
A

L
 L

IN
E

S

1.2 [.89]

50 PSI [344.7 kPa]

1400 1600 1800

.2 [.15]

1 [.75]

.6 [.45]

1.4 [1.04]

1.6 [1.19]

25 PSI [172.4 kPa]



VISCOSITY - SSU [cSt]

700 RPM

900 RPM

1200 RPM

1800 RPM

V
IS

C
O

U
S

 H
P

 [
kW

]
SERIES:  A08

GRAPH 4

TOTAL INPUT HORSEPOWER [kW] = GRAPH 3 + GRAPH 4

R
P

M
 S

H
O

W
N

 O
N

 D
IA

G
O

N
A

L
 L

IN
E

S

VISCOUS HORSEPOWER

20
0 

[4
3.

3]

10
0 

[2
0.

7]

30
 [

.2
8]

40
 [

4.
2]

60
 [

10
.3

]

80
 [

15
.5

]

.1 [.07]

.4 [.30]

1 [.75]

40
0 

[8
7.

7]

60
0 

[1
31

.8
]

80
0 

[1
75

.8
]

10
00

 [
22

0]

20
00

 [
44

0]

40
00

 [
88

0]

60
00

 [
13

20
]

80
00

 [
17

60
]

10
00

0 
[2

20
0]

2 [1.5]

.2 [.15]

.04 [.03]

4 [2.98]









RPM

D
IS

C
H

A
R

G
E

 -
 G

P
M

 [
l/m

in
]

0 800200 1000400 1200600
0 [0]

2 [7.6]

4 [15.1]

6 [22.7]

8 [30.3]

10 [37.9]

12 [45.4]

SERIES:  A12
GRAPH 1

THEORETICAL GPM
ACTUAL DELIVERY IN GPM [l/min] = GRAPH 1 - GRAPH 2

1400 1600 1800

14 [53]

16 [60.6]

18 [68.1]

20 [75.7]

22 [83.3]

24 [90.8]



VISCOSITY - SSU [cSt]

S
L

IP
 -

 G
P

M
 [

l/m
in

]

GRAPH 2
SLIP

ACTUAL DELIVERY IN GPM [l/min] = GRAPH 1 - GRAPH 2

D
IS

C
H

A
R

G
E

 P
R

E
S

S
U

R
E

S
H

O
W

N
 O

N
 D

IA
G

O
N

A
L

 L
IN

E
S

125 PSI [861.8 kPa]

25 PSI [172.4 kPa]

100 PSI [689.5 kPa]

50 PSI [344.7 kPa]
75 PSI [517.1 kPa]

.4 [1.51]

.04 [.15]

.1 [3.8]

30
 [

.2
8]

10
0 

[2
0.

7]

20
0 

[4
3.

3]

40
0 

[8
7.

7]

60
0 

[1
31

.8
]

80
0 

[1
75

.8
]

10
00

 [
22

0]

20
00

 [
44

0]

40
00

 [
88

0]

60
00

 [
13

20
]

80
00

 [
17

60
]

10
00

0 
[2

20
0]

.2 [.76]

150 PSI [1034.2 kPa]

1 [3.8]

2 [7.57]

4 [15.1]

5 [18.9]

SERIES:  A12



RPM

TOTAL INPUT HORSEPOWER [kW] = GRAPH 3 + GRAPH 4 

SERIES:  A12
GRAPH 3

INPUT HORSEPOWER

IN
P

U
T

 H
O

R
S

E
P

O
W

E
R

 [
kW

]

0 1000200 800400 1200600
0 [0]

75 PSI [517.1 kPa]
100 PSI [689.5 kPa]125 PSI [861.8 kPa]
150 PSI [1

034.2 kPa]

D
IS

C
H

A
R

G
E

 P
R

E
S

U
R

E
S

H
O

W
N

 O
N

 D
IA

G
O

N
A

L
 L

IN
E

S

1.5 [1.12]

50 PSI [344.7 kPa]

1400 1600 1800

.5 [.37]

1 [.75]

2.0 [1.49]

2.5 [1.86]

25 PSI [172.4 kPa]



VISCOSITY - SSU [cSt]

700 RPM

900 RPM

1200 RPM

1800 RPM

V
IS

C
O

U
S

 H
P

 [
kW

]
SERIES:  A12

GRAPH 4

TOTAL INPUT HORSEPOWER [kW] = GRAPH 3 + GRAPH 4

R
P

M
 S

H
O

W
N

 O
N

 D
IA

G
O

N
A

L
 L

IN
E

S

VISCOUS HORSEPOWER

20
0 

[4
3.

3]

10
0 

[2
0.

7]

30
 [

.2
8]

40
 [

4.
2]

60
 [

10
.3

]

80
 [

15
.5

]

.1 [.07]

.4 [.30]

1 [.75]

40
0 

[8
7.

7]

60
0 

[1
31

.8
]

80
0 

[1
75

.8
]

10
00

 [
22

0]

20
00

 [
44

0]

40
00

 [
88

0]

60
00

 [
13

20
]

80
00

 [
17

60
]

10
00

0 
[2

20
0]

2 [1.5]

.2 [.15]

.04 [.03]

4 [2.98]









RPM

D
IS

C
H

A
R

G
E

 -
 G

P
M

 [
l/m

in
]

0 800200 1000400 1200600
0 [0]

5 [18.9]

15 [56.8]

25 [94.6]

30 [113.6]

10 [37.9]

35 [132.5]

SERIES:  A16
GRAPH 1

THEORETICAL GPM
ACTUAL DELIVERY IN GPM [l/min] = GRAPH 1 - GRAPH 2

1400 1600 1800

20 [75.7]



VISCOSITY - SSU [cSt]

S
L

IP
 -

 G
P

M
 [

l/m
in

]

GRAPH 2
SLIP

ACTUAL DELIVERY IN GPM [l/min] = GRAPH 1 - GRAPH 2

D
IS

C
H

A
R

G
E

 P
R

E
S

S
U

R
E

S
H

O
W

N
 O

N
 D

IA
G

O
N

A
L

 L
IN

E
S

125 PSI [861.8 kPa]

25 PSI [172.4 kPa]

100 PSI [689.5 kPa]

50 PSI [344.7 kPa]
75 PSI [517.1 kPa]

.4 [1.51]

.04 [.15]

.1 [3.8]

30
 [

.2
8]

10
0 

[2
0.

7]

20
0 

[4
3.

3]

40
0 

[8
7.

7]

60
0 

[1
31

.8
]

80
0 

[1
75

.8
]

10
00

 [
22

0]

20
00

 [
44

0]

40
00

 [
88

0]

60
00

 [
13

20
]

80
00

 [
17

60
]

10
00

0 
[2

20
0]

.2 [.76]

150 PSI [1034.2 kPa]

1 [3.8]

2 [7.57]

4 [15.1]

5 [18.9]

SERIES:  A16



RPM

TOTAL INPUT HORSEPOWER [kW] = GRAPH 3 + GRAPH 4 

SERIES:  A16
GRAPH 3

INPUT HORSEPOWER

IN
P

U
T

 H
O

R
S

E
P

O
W

E
R

 [
kW

]

0 1000200 800400 1200600
0 [0]

75 PSI [517.1 kPa]
100 PSI [689.5 kPa]125 PSI [861.8 kPa]

150 PSI [1
034.2 kPa]

D
IS

C
H

A
R

G
E

 P
R

E
S

U
R

E
S

H
O

W
N

 O
N

 D
IA

G
O

N
A

L
 L

IN
E

S

1.5 [1.12]

50 PSI [344.7 kPa]

1400 1600 1800

.5 [.37]

1 [.75]

2.0 [1.49]

2.5 [1.86]

3 [2.24]

25 PSI [172.4 kPa]



VISCOSITY - SSU [cSt]

700 RPM

900 RPM

1200 RPM

1800 RPM

V
IS

C
O

U
S

 H
P

 [
kW

]
SERIES:  A16

GRAPH 4

TOTAL INPUT HORSEPOWER [kW] = GRAPH 3 + GRAPH 4

R
P

M
 S

H
O

W
N

 O
N

 D
IA

G
O

N
A

L
 L

IN
E

S

VISCOUS HORSEPOWER

20
0 

[4
3.

3]

10
0 

[2
0.

7]

30
 [

.2
8]

40
 [

4.
2]

60
 [

10
.3

]

80
 [

15
.5

]

.1 [.07]

.4 [.30]

1 [.75]

40
0 

[8
7.

7]

60
0 

[1
31

.8
]

80
0 

[1
75

.8
]

10
00

 [
22

0]

20
00

 [
44

0]

40
00

 [
88

0]

60
00

 [
13

20
]

80
00

 [
17

60
]

10
00

0 
[2

20
0]

2 [1.5]

.2 [.15]

.04 [.03]

4 [2.98]









RPM

D
IS

C
H

A
R

G
E

 -
 G

P
M

 [
l/m

in
]

0 800200 1000400 1200600
0 [0]

5 [18.9]

15 [56.8]

25 [94.6]

30 [113.6]

10 [37.9]

35 [132.5]

SERIES:  A21
GRAPH 1

THEORETICAL GPM
ACTUAL DELIVERY IN GPM [l/min] = GRAPH 1 - GRAPH 2

1400 1600 1800

20 [75.7]

40 [151.4]



VISCOSITY - SSU [cSt]

S
L

IP
 -

 G
P

M
 [

l/m
in

]

GRAPH 2
SLIP

ACTUAL DELIVERY IN GPM [l/min] = GRAPH 1 - GRAPH 2

D
IS

C
H

A
R

G
E

 P
R

E
S

S
U

R
E

S
H

O
W

N
 O

N
 D

IA
G

O
N

A
L

 L
IN

E
S

125 PSI [861.8 kPa]

25 PSI [172.4 kPa]

100 PSI [689.5 kPa]

50 PSI [344.7 kPa]

75 PSI [517.1 kPa]

.4 [1.51]

30
 [

.2
8]

10
0 

[2
0.

7]

20
0 

[4
3.

3]

40
0 

[8
7.

7]

60
0 

[1
31

.8
]

80
0 

[1
75

.8
]

10
00

 [
22

0]

20
00

 [
44

0]

40
00

 [
88

0]

60
00

 [
13

20
]

80
00

 [
17

60
]

10
00

0 
[2

20
0]

20 [75.7]

150 PSI [1034.2 kPa]

1 [3.8]

2 [7.57]

4 [15.1]

10 [37.9]

SERIES:  A21



RPM

TOTAL INPUT HORSEPOWER [kW] = GRAPH 3 + GRAPH 4 

SERIES:  A21
GRAPH 3

INPUT HORSEPOWER

IN
P

U
T

 H
O

R
S

E
P

O
W

E
R

 [
kW

]

0 1000200 800400 1200600
0 [0]

75 PSI [517.1 kPa]
100 PSI [689.5 kPa]125 PSI [861.8 kPa]
150 PSI [1

034.2 kPa]

D
IS

C
H

A
R

G
E

 P
R

E
S

U
R

E
S

H
O

W
N

 O
N

 D
IA

G
O

N
A

L
 L

IN
E

S

1.5 [1.12]

50 PSI [344.7 kPa]

1400 1600 1800

.5 [.37]

1 [.75]

2.0 [1.49]

2.5 [1.86]

3 [2.24]

3.5 [2.61]

4 [2.98]

25 PSI [172.4 kPa]



VISCOSITY - SSU [cSt]

700 RPM

900 RPM

1200 RPM

1800 RPM

V
IS

C
O

U
S

 H
P

 [
kW

]
SERIES:  A21

GRAPH 4

TOTAL INPUT HORSEPOWER [kW] = GRAPH 3 + GRAPH 4

R
P

M
 S

H
O

W
N

 O
N

 D
IA

G
O

N
A

L
 L

IN
E

S

VISCOUS HORSEPOWER

20
0 

[4
3.

3]

10
0 

[2
0.

7]

30
 [

.2
8]

40
 [

4.
2]

60
 [

10
.3

]

80
 [

15
.5

]

.1 [.07]

.4 [.30]

1 [.75]

40
0 

[8
7.

7]

60
0 

[1
31

.8
]

80
0 

[1
75

.8
]

10
00

 [
22

0]

20
00

 [
44

0]

40
00

 [
88

0]

60
00

 [
13

20
]

80
00

 [
17

60
]

10
00

0 
[2

20
0]

2 [1.5]

.2 [.15]

.04 [.03]

4 [2.98]









RPM

D
IS

C
H

A
R

G
E

 -
 G

P
M

 [
l/m

in
]

0 800200 1000400 1200600
0 [0]

5 [18.9]

15 [56.8]

25 [94.6]

30 [113.6]

10 [37.9]

35 [132.5]

SERIES:  A27
GRAPH 1

THEORETICAL GPM
ACTUAL DELIVERY IN GPM [l/min] = GRAPH 1 - GRAPH 2

1400 1600 1800

20 [75.7]

40 [151.4]

45[170.3]

50 [189.3]



VISCOSITY - SSU [cSt]

S
L

IP
 -

 G
P

M
 [

l/m
in

]

GRAPH 2
SLIP

ACTUAL DELIVERY IN GPM [l/min] = GRAPH 1 - GRAPH 2

D
IS

C
H

A
R

G
E

 P
R

E
S

S
U

R
E

S
H

O
W

N
 O

N
 D

IA
G

O
N

A
L

 L
IN

E
S

125 PSI [861.8 kPa]

25 PSI [172.4 kPa]

100 PSI [689.5 kPa]

50 PSI [344.7 kPa]

75 PSI [517.1 kPa]

.4 [1.51]

30
 [

.2
8]

10
0 

[2
0.

7]

20
0 

[4
3.

3]

40
0 

[8
7.

7]

60
0 

[1
31

.8
]

80
0 

[1
75

.8
]

10
00

 [
22

0]

20
00

 [
44

0]

40
00

 [
88

0]

60
00

 [
13

20
]

80
00

 [
17

60
]

10
00

0 
[2

20
0]

20 [75.7]

150 PSI [1034.2 kPa]

1 [3.8]

2 [7.57]

4 [15.1]

10 [37.9]

SERIES:  A27



RPM

TOTAL INPUT HORSEPOWER [kW] = GRAPH 3 + GRAPH 4 

SERIES:  A27
GRAPH 3

INPUT HORSEPOWER

IN
P

U
T

 H
O

R
S

E
P

O
W

E
R

 [
kW

]

0 1000200 800400 1200600
0 [0]

75 PSI [517.1 kPa]
100 PSI [689.5 kPa]125 PSI [861.8 kPa]150 PSI [1

034.2 kPa]

D
IS

C
H

A
R

G
E

 P
R

E
S

U
R

E
S

H
O

W
N

 O
N

 D
IA

G
O

N
A

L
 L

IN
E

S

1.5 [1.12]

50 PSI [344.7 kPa]

1400 1600 1800

.5 [.37]

1 [.75]

2.0 [1.49]

2.5 [1.86]

3 [2.24]

3.5 [2.61]

4 [2.98]

4.5 [3.36]

5 [3.73]

25 PSI [172.4 kPa]



VISCOSITY - SSU [cSt]

700 RPM

900 RPM

1200 RPM

1800 RPM

V
IS

C
O

U
S

 H
P

 [
kW

]
SERIES:  A27

GRAPH 4

TOTAL INPUT HORSEPOWER [kW] = GRAPH 3 + GRAPH 4

R
P

M
 S

H
O

W
N

 O
N

 D
IA

G
O

N
A

L
 L

IN
E

S

VISCOUS HORSEPOWER

20
0 

[4
3.

3]

10
0 

[2
0.

7]

30
 [

.2
8]

40
 [

4.
2]

60
 [

10
.3

]

80
 [

15
.5

]

.1 [.07]

.4 [.30]

1 [.75]

40
0 

[8
7.

7]

60
0 

[1
31

.8
]

80
0 

[1
75

.8
]

10
00

 [
22

0]

20
00

 [
44

0]

40
00

 [
88

0]

60
00

 [
13

20
]

80
00

 [
17

60
]

10
00

0 
[2

20
0]

2 [1.5]

.2 [.15]

.04 [.03]

4 [2.98]

5 [3.73]









RPM

D
IS

C
H

A
R

G
E

 -
 G

P
M

 [
l/m

in
]

0 800200 1000400 1200600
0 [0]

5 [18.9]

15 [56.8]

25 [94.6]

30 [113.6]

10 [37.9]

35 [132.5]

SERIES:  A32
GRAPH 1

THEORETICAL GPM
ACTUAL DELIVERY IN GPM [l/min] = GRAPH 1 - GRAPH 2

1400 1600 1800

20 [75.7]

40 [151.4]

45[170.3]

50 [189.3]

60 [227.1]

55 [208.2]



VISCOSITY - SSU [cSt]

S
L

IP
 -

 G
P

M
 [

l/m
in

]

GRAPH 2
SLIP

ACTUAL DELIVERY IN GPM [l/min] = GRAPH 1 - GRAPH 2

D
IS

C
H

A
R

G
E

 P
R

E
S

S
U

R
E

S
H

O
W

N
 O

N
 D

IA
G

O
N

A
L

 L
IN

E
S

125 PSI [861.8 kPa]

25 PSI [172.4 kPa]

100 PSI [689.5 kPa]

50 PSI [344.7 kPa]

75 PSI [517.1 kPa]

.4 [1.51]

30
 [

.2
8]

10
0 

[2
0.

7]

20
0 

[4
3.

3]

40
0 

[8
7.

7]

60
0 

[1
31

.8
]

80
0 

[1
75

.8
]

10
00

 [
22

0]

20
00

 [
44

0]

40
00

 [
88

0]

60
00

 [
13

20
]

80
00

 [
17

60
]

10
00

0 
[2

20
0]

20 [75.7]

150 PSI [1034.2 kPa]

1 [3.8]

2 [7.57]

4 [15.1]

10 [37.9]

SERIES:  A32



RPM

TOTAL INPUT HORSEPOWER [kW] = GRAPH 3 + GRAPH 4 

SERIES:  A32
GRAPH 3

INPUT HORSEPOWER

IN
P

U
T

 H
O

R
S

E
P

O
W

E
R

 [
kW

]

0 1000200 800400 1200600
0 [0]

75 PSI [517.1 kPa]
100 PSI [689.5 kPa]125 PSI [861.8 kPa]
150 PSI [1

034.2 kPa]

D
IS

C
H

A
R

G
E

 P
R

E
S

U
R

E
S

H
O

W
N

 O
N

 D
IA

G
O

N
A

L
 L

IN
E

S

1.5 [1.12] 50 PSI [344.7 kPa]

1400 1600 1800

.5 [.37]

1 [.75]

2.0 [1.49]

2.5 [1.86]

3 [2.24]

3.5 [2.61]

4 [2.98]

4.5 [3.36]

5 [3.73]

5.5 [4.1]

6 [4.47]

25 PSI [172.4 kPa]



VISCOSITY - SSU [cSt]

700 RPM

900 RPM

1200 RPM

1800 RPM

V
IS

C
O

U
S

 H
P

 [
kW

]
SERIES:  A32

GRAPH 4

TOTAL INPUT HORSEPOWER [kW] = GRAPH 3 + GRAPH 4

R
P

M
 S

H
O

W
N

 O
N

 D
IA

G
O

N
A

L
 L

IN
E

S

VISCOUS HORSEPOWER

20
0 

[4
3.

3]

10
0 

[2
0.

7]

30
 [

.2
8]

40
 [

4.
2]

60
 [

10
.3

]

80
 [

15
.5

]

.1 [.07]

.4 [.30]

1 [.75]

40
0 

[8
7.

7]

60
0 

[1
31

.8
]

80
0 

[1
75

.8
]

10
00

 [
22

0]

20
00

 [
44

0]

40
00

 [
88

0]

60
00

 [
13

20
]

80
00

 [
17

60
]

10
00

0 
[2

20
0]

2 [1.5]

.2 [.15]

.04 [.03]

4 [2.98]

5 [3.73]











RPM

D
IS

C
H

A
R

G
E

 -
 G

P
M

 [
l/m

in
]

0 800200 1000400 1200600
0 [0]

30 [113.6]

10 [37.9]

80 [302.8]

SERIES:  A40
GRAPH 1

THEORETICAL GPM
ACTUAL DELIVERY IN GPM [l/min] = GRAPH 1 - GRAPH 2
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GRAPH 4
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